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Q-4. Mark the given points on the number line –  

a.  – 2 , - 1 , 0  =        - 3     -2     -1     0     1     2     3 

b. -4 , - 2 , 0 , 2 =     - 5      -4     -3     -2     -1     0     1     2     3     4 

Q-5. Write all the integers between – 

a.  – 4 and 0 =  - 3 , - 2 , - 1  

b. – 6 and  - 3 = - 5 , - 4 s 

c. – 3 and 3 = - 2 , - 1 , 0 , 1 , 2 

d. 4 and 8 = 5 , 6 , 7 

e. 0 and 6 = 1 , 2 , 3 , 4 , 5 

Q-6. Fill in the boxes with > , < , = 

a. 0   >   - 1  b. – 8 > - 14   c. 8 > - 3 

d.  – 17 < - 6   e. - 6 < + 2  

Q-7 Circle the greater no – 

a.  – 1    ,    -  23  

b.   – 7  ,  - 23  

c. – 627   , 0 

Q-8. Arrange the no in ascending order –  

a. – 6 , 0  - 7 , 3 , - 10 , 4     =    - 10 , - 7 , - 6 ,0 , 3 , 4 

b. 3 , 6 , -3 , 0 , - 8 , 1         =      - 8 , - 3 , 0 , 1 , 3 , 6  

Q-9. Write the next three integers in each of the following patterns – 

a. 6 , 3 , 0 , -3 , -6 , -9 , - 12 , - 15 

b. – 16 ,  - 8 , 0 , +8 , + 16 , + 24 , + 32 

c. 17 , 12 , 7 , 2 , - 3 , - 8 , - 13  



Q-10. Arrange the integers from smallest to largest – 

a. 7 , - 8 , 9 , - 10 =  - 10 , - 8 , 7 , 9 

b. 0 , -3 , 4 , - 2 =  - 3 , -2 , 0 , 4 

c. 4 , -4 , 5 , - 5 = - 5 , - 4 , 4 , 5 

Q-13. Write the absolute value –  

a. |−10|   =  10 

b. |84 | = 84 

c. |−73| = 73 

Q-14. Write the exact opposites of the following integers –  

a. – 27 = + 27 

b. – 301 = + 301 

c. + 61 = - 61 

d. – 1= + 1 

e. – 8 = + 8 

 

 

 

 

 

 

 

 


